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Assessment Test 4

m w 10 minutes to do Section A and 25 minytes to do Section B,
Work as quickly and as carefully as you can,

You can print multiple-choice answer sheets f

0
www.cgplearning.co.uk/1 1+, If you'd prefer t

your answers in the spaces provided or circle

I these questions from our website — go to
0 answer them in write-in format, either write
the correct answer from the options given.

Section A — Quick Maths

You have 10 minutes to complete this section.
There are 30 questions in this section.

/hat is the value of the 7 in 7 230 000?
~ seven hundred million C

seventy thousand E  seven million
ven hundred thousand D

seventy million

of the following is most likely to be the height of a fully grown tree?

C 1.2 centimetres E 0.12 metres

etres D  0.12 centimetres

Wi a trapezium.

her shape in the dotted mirror line shown to make a new shape. ‘

E  quadrilateral

Day Monday | Tuesday | Wednesday | Thursday Friday
| Temperature| —2 °C EC 0RC 2G| —RC
th lowest temperature?

" A

w0 Wednesday D  Thursday E  Friday

'he next question — —
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9. Kate buysa second-hand car for £3,080.
The original cost of the car was £6,999. [m
By how much has the car’s value decreased? £

10. How much does the kitten on the right weigh?
A 25kg C . 225kg E 2.125kg
B 205kg D 05kg

~11. Joe eats three loaves of bread on a seven day holiday.

‘He eats the same amount of bread each day.
What fraction of a loaf does he eat each day of the holiday?

Ed C) DY E)
Bl 3 i
' shows the pets belonging to the children in Sue’s class.
ber of pets in the survey is 32.

ding both numbers to
'hat answer should he get?

E 1677

£

8:05 am | 8:10 am [8:15 am [820 om
8:15 am | 8:20 am | 8:25 am | 8:30 o,
|8:20 am | 8:25 am | 8:30 am 8:35 am

8:49 am




9. Jonathaq’s family go on a journey which is sh :
The family stops for a break. How long does ::)l?;nb(;gatl?;:sgtr? p};.
or?

A lshours B lThour C Yihour D Yhour E 1%h
4 nours

Class 7 have made 250 biscuits to sell at th -
They pack them in bags of 12. Eachool fair

How many biscuits are left over? U:]

Mark takes seven 4 cm cubes and pl

; places the
B s i m end to end
¢ then puts the shape on a piece of paper, and draws
und it with a pencil.

bag contains 5 cherry sweets and 10 lime sweets.
'hat ﬁjaction of the sweets are cherry sweets?

B 197 cl pl EX

lass 7 on a single day?

'some striped and spotted balls.
balls is either red or yellow.

at is the perimeter of the shape that he draws? [:I:D cm

50
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0
08:00 10:00

Ti

j:ogram shows the number of awards mon QOO @O
ga ined each day in a week. Tue O O O O @
wed OO @

-
12:00 14:00

me

O = 3 awards

the greatest number of awards
() ~eeesd
Fri O O 6

am shows how many of each ball there are.

:
9% of the total balls in the bag?

E red striped balls

spotted | striped
yellow 6 3
red 4 7/
Eamov e -
Sl
,———l..—-—r__.‘%..——A,__-:—- —
=15 o)
En-oo [ 214
| o (€]
n to the next question ——
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form a 3-dimensional shape. %50
-t

28. The net to the right folds up to
2 cm

What is the volume of this shape? oy

N
Q
=

/
/
/

buy a T-shirt in a sale.
d by 60%.

he original price was £n?

29. Lucy wants to
All items in the sale are reduce

What is the sale price of the Teshirt if t

A n+60 B 24(m Cn-60 D ¥(m E21-6 s
30. Oscar faces north and then turns through 225°in 2 clockwise direction. NW A vie
Which direction is he now facing? W 2
A west B south-west C south-east D south E ecast % o
B )
Section B— Long Maths s
You have 25 minutes t0 complete this section.
There are 30 questions in this section.

below. What is the total volume when they are added together?

5.5 litres 5.0 litres 0.5 litres mm
“hus ; : litres

: ‘r(j-li;ps to sell the badges.

‘I:#IP There are 15 girls in Class 1B. :




9. The diagram shows a patio made from two i
What is the area of the patio?

A 3.84m’ C 9.6 m? E 192 m? 4m
B 19.2m? D 384 m?

dentical triangular slabs.

69

4.8 m 10
81—
10. The frequency chart shows the results of throwing a dice. 6
How many times was the dice thrown altogether? Frequency
4
S :
0

ts 245 g of dried food per meal. She has 3 meals per day.
‘How much food does the dog eat in a week?
0.4725 kg B 5.145 kg C 3375kg

‘ dog s owner buys the food in 1.25 kg ba
B 4 € 5 D 10 E 12

D 1.575kg E 47.25 kg

gs. How many full meals does one bag provide?

I8n2383d 1585 6
Number on Dice

much more per week does it cost to run Opens | Closes
the summer than in the winter? £ L ]{ j[ I ] Mar—Sep | 9am | 6pm
, Oct — Feb 1M1am | 4 pm
‘ ,550 visitors to his café about their eating habits.
G
kg of apples for every 2 kg of sugar.
ﬂf; she uses 9 kg of sugar?
.25kg  E 20.25kg
e in a supermarket. S Mass per
pples and 1 bag of pears. R e (g)

Oranges 600

Bananas 450

Apples 500

Pears 750
Pattern 4 Pattern 5

to the next question — —
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20. Adam starts watching a film at 10:45 am.

The film lasts for 136 minutes. mm o
What time does the film finish? :
21. Katie buys six 1 litre cartons of milk each week. She drinks 350 ml of milk twice a day,
She uses the whole carton before she opens a new one. m
How much milk will be left over after 7 days? mi
Jasmine builds this model on a table.
Each brick has a volume of 3 cm’.
22. What is the total volume of the model? U:D cm’

23. What fraction of the number of blocks in the model are not touching the table?
IR T S N B

24, Jack is cooking a turkey that weighs 2.2 kg. To work out how many
minutes he needs to cook it for he is using the formula 20w + 70.

L i

P Level
‘is shown in the table. Minut
te each level is 42 minutes. gics
level 4?2

o, m minutes

| January [£12)
February| a0y

I ][ U March |£150!
g : April £110
May £150
June 50p

o

A 30 gram serving contains:

e
Protein 49
Carbohydrate 219
Fat 159
Fibre 089
: 059

MG EN




